Linear Algebra (II) Exercise (Week 4)
March 15, 2024

1. ¥ % T:V —V % linear transformation.

(a) & Vi, V2, V3 € Vyi2tEe R L T(v)=-v,T(v)=
Vi,V2 & linearly 1ndependent £ #P v3 & Span(vy,vp) *
linearly independent.

(b) fI* BeF Q2 EN { - Rehffa) = vy, v €V ¥ LT e Ei6 L
T(Vl):Clvly"'vT(Vn):chny ‘}i 4 Cly---5Cn w ﬁ’fﬁ—@- ;ﬁp Vi, Vn F*‘ lin-
early independent.

2vy T( )—V3 ;E_F]q
PP VLV, V3 &

2 R2 b - I ZRLYTY - BREERETES > FUTARL - B ERBEDE R
L={(x,y) | ax+by = 0}.
(a) 3% T:R* = R* 2% 5 T(x,y)=(x+yx—y) #f1* ab#2 T(L) =T (L) %
Efeihd 7 B oo
(b) % T:R*?>R? 2& 2 T(xy)=(x+yx+y) #4* ab 22 T(L)f+ T (L) 3
Efean+ 2 /o
3. #43 3111 T linear transformations 7 kernel = image 7 basis.
(a) T1:R> = R* 2 4% %
Ti(a,b,c,d,e) =(a—c+3d—e,a+2d—e,2a—c+5d—e,—c+d).

b) I>: P(R) = Py(R), %& 5 D(f(x) =2*f(x).

(
4. ¥ Jg linear transformations T:V — W, F:W — U.

(A
(a) %M R(FoT)CR(F) ® N(T)CN(FoT).
(b) 41* dimension theorem, % rank(F oT) =dim(V)—dim(N(FoT)) % (a), %M
rank(F oT) < rank(T).

(c) Bx W 5 W e subspace, 3 g F/':W —U 5% F chz &55'q4 & W
linear transformatlon (E’P F'(w)=F(w), VweW'). #p F’(W’)zF( "

N(F') = N(F)NW', & r1pt g p

v

dim(N(F)) > dim(W') — dim(F(W")).
(d) ¥ (c) ® W =T(V) éhf= > §1* rank(F) = dim(W) — dim(N(F)) #p
rank(F) < dim(W) —rank(7') +rank(FoT).
(€) % & (a)(b),(d) HM
rank(F) +rank(7") —dim(W) < rank(F o T') < min{rank(7'),rank(F)}.



